® 13




2. 8x%—10xy—12y? & AFEFHAS o, A4 AS 1 2H?

D x-vy @ x+2y ® 2x+ 4y

@ 4x -3y @4x+3y

8x% — 10xy — 12y% =2 (4)52 — Hxy — 6y2)
=2 (x—2y) (4x + 3y)




© x?-5x-6=(x—2)(x-3)
@ 12x - 4x* = 4x(x - 3)
@) - 145+ 49 = (x -7

@ 3x2 +5x-2=(x-2)(3x+ 1)
@) 1a? - 90? = (2a- 3b)(2a + 3b)

@ (x-6)(x+1)
@ -4x(x - 3)
@ (x+2)(3x-1)




3x% = 10x+m 9 T 157 3x -4 A of, Th2 T A=

D x-1 @x—2 @ 2x-1
@ 3x-2 ® 2x-3

~&B

3x2—10x+m = (3x—4)(x + k)

= 322 + (3k — 4)x — 4k
3k—4=-10 A k= -2
—4k =mO| B2 m =238
3x2—10x +8 = (3x—4)(x—2)
whabA ThE Q= x - 2 o]t}




A& o]-8ote] 137 -

® a®+ 2ab+ b? = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a? - 1* = (a+b)(a-b)

=13+ 12 & AA5t9 ok

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd =

(ax+b)(cx+d)

o] m,

2
132 -122 = (13 + 12)(13 -12)=134+12=125

weta ol 8 H FAL o

- b? = (a+b)(a-b)oITt.




6. o5& g2 ALY
@ V20=2+5 @ V27=3V3
® Vi8=4V3 @ -+50 = -5v2
@)-vB=-3v7

‘ ® -vV28 =-2V7




2V3
2+ 13

2~
T

A

® 4V3+6
@ 247

& felsiala?

@—6+4\/§
® -5V7+38

® -4V3-6

2V3(2 -

V3)

(2+ V3)(2

V) =4V3-6




03 5 V43 = 2074 Y& o]-g3dto] AlFZe 2 78 & gle
A& ==kt
@ +0.043 © V430
® V0.43 @ V43000
> £
> g ©
43 \/4,3 2.074
& +0.043 = T T _T_o.zom
© V430 = V4.3 x 102 = 10 V4.3 = 20.74
3 V43
\0.43 =
© 100 10
® V43000 = V4.3 x 104 = 100 V4.3 = 2074
o|BZ V43 =2.074 Y2 0|85t AlFL T2 7T 5 e
A2 ©°lth




9.

@ -5 @ -1 (@)—3 @ -10 ® -12

x+2=A, 2x-3=BZE A&
(x+2)% - (2x - 3)2

:A2_B2

=(A+B)(A-B)

= (x £2-F9x—3)(x +2—2x £3)
= (Bx—1)(-x+5)
=—-Bx-1)(x-5)
sna+b+c=3+(-1)+(-5) =-3




10.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




—/(=5a)% + V16a2 = — V2542 + |4a| = —|5a] + |4a| = —a




12.

@ -V3>-v2 O -2v2>-V12
© Vil>2+3

ve e 0060 @Doe 006

~&B

@2<3°]8B2 V2< 3

whebA] -2 > - V3 o[t}

O©-2V2 > -V12 (O)

© ViI2=11<12=(2V3)2 °]E&2 V11 <2V3




< {P
-5 -4 -3 -2 -1 0 1

O -2+ 2 @ -2-12 ® V5
@-2+ 5 ® -2-5

AAZE o] g Wo] Zoj= 5 wratA] H PO -85l =
-2+ V5oltt




14. o] Zko] Wel7} - o
el s}\ajﬂ 2<a<29m, Vla-22- /(a+2)? A 4%

@o @ -2a-4 ® _4

@—Za ® 2a




15. VB(V10+ v2) + V2(2V5+2)
ol ), a+b °] Ft& Fotoiet

FUIHJ

Fdi=ae]

% o VI0+ b2 7} 9k,

V50+ V10 +2V10+2V2 =3VI0+7V2 0|B2 a =3, b =7

o|tt.

b a+b=3+7=10 o[tk




